mod_auth_st

generate_server certificate(in session:gnutls_session_t.out data:opaque®*): 1nt
generate_client certificate(in session:gnutls_session_t.out data:opaque®*): 1int
generate_server_kx(in session:gnutls_session_t,out data:opaque**): 1int
generate_client_kx(in session:gnutls_session_t,out data:opaque**): 1int
generate_client _cert_vrfy(in session:gnutls_session_t,out data:opaque*®): int

generate_server certificate request(in session:gnutls_session_t,
out data:opaque**J: int

process_server_certificate(in session:gnutls_session_t,1n data:opaquet,
in data size:size t): 1int

process_client_certificate(in session:gnutls_session_t,1n data:opaquet,
in data_size:size t): 1int

process_server_kx(in session:gnutls_session_t,1in data:opaque#,

in data size:size t): 1int
process_client_kx(in session:gnutls_sessilon_t,1in data:opaque*,

in data size:size t): 1int
process_client_cert_wvrfy(in session:gnutls_session_t,1n data:opaquet,

in data size:size t): 1int
process_server_certificate_request(in session:gnutls_session_t, _
in data:opaque*,in data_size:size t): 1int




